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Which of the following countries of Asia
was not colonized by British rule ?

(a) Thailand
(b) Myanmar
(c) Bangladesh
(d) Singapore

Ashok was viceroy of which region when
Bindusar died ?

(a) Takshashila
(b) Ujjaini
(c). Sourastra

(d) Punjab

The oath to “Preserve, Protect and Defend
Constitution of India” is taken by

1. President
2. Prime Minister
3. Vice President
4. Governor
5

. Council of Ministers.

(a) 1and 2 only
(b) 1and 4 only
(c) 1,2and 4 only
(d) 1,2 and 5 only

Which among the following is not a major
agri-export of India ?

(2) Marine products
(b) Cashew
(c) Pulses
(d) Cereals
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The Border Security Force has launched
which operation on Jammu and Kashmir
(J & K) International Border to curb
infiltration ?

(a) Operation Border
(b) Operation Control
(c) Operation Alert
(d) Operation Star

Which Constitutional Amendment says
about 371 (J) ?

(a) 97t
(b) 98t
(C) 96th
(d) gglh

Who has the authority to remove the
Vice-President from his office before the
expiry of his term ?

(a) Rajya Sabha

(b) Lok Sabha

(¢) Supreme Court

(d) Parliament

Gandhiji's ashram in South Africa is known
as

(@) The Phoenix Settlement
(b) Sarvodaya Enclave

(c) Young India

(d) Unto the Last

When was the first Viswakannada
Sammelana held in Karnataka ?

(@) 1925
(b) 1958
(c) 1977
(d) 1985
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What is the reason for atmospheric
pressure on earth's atmosphere ?
(a) Heat on upper surface of earth

(b) Gravitational force
(c) Rotation of earth around sun
(d) Rotation of earth around its axis

Who won the World Rapid Chess
Championship in Riyadh in the year 2017 ?
(a) Peter Leko

(b) Vishwanathan Anand

(c) Viadimir Fedosev

(d) Magnus Carlton

Beta-carotene gets converted into which
Vitamin in-our body ?

(a) Vitamin E

(b) Vitamin C

(c) Vitamin A

(d) Vitamin D

What's the value of ‘X' in the given figure ?

(a) 100°
(b) 130°
(c) 60°
(d) 120°

The Rowlatt Act was aimed at

(a) Compulsory economic support to war
efforts

(b) Imprisonment without trial and
summary procedures for trial

(c) Suppression of the Khilafat movement

(d) Imposition of restrictions on freedom
of the press

B
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Match the following :
Country Capital
1. Turkey I. Ottawa
2. Canada IIl. Dhaka
3. Bangladesh Il. Canberra
4. Australia IV. Ankara
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A train travels at a certain average speed
for a distance of 63 km and then travels a
distance of 72 km at an average speed of
6 km/hr more than its original speed. If it
takes 3 hours to complete the total journey,
what is original speed of train in km/hr ?

(a) 24
(b) 42
(c) 33
(d) 66

Who among the following started
newspaper “Voice of India” ?

(a) Dadabhai Naoroji
(b) Bhikaji Cama
(c) V. D. Savarkar
(d) Lala Hardayal

Who was the first Indian to swim across
the English channel ?

(@) Mihir Sen

(b) Arati Saha _

(c) Ashwin Krishnaswamy
(d) Bhakti Sharma
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Which among following is highest peak in
Karnataka 7

(a) Nandi Hills

(b) Biligiri

(c) Mullaiyanagiri

(d) Male Mahadeswar Hills

The battle of “Rakkasa Thangadi” which
ruined the glory of Vijayanagara Dynasty
was held in which year ?

(a) 1545

(b) 1550

(c) 1560

(d) 1565

Which ruler is credited for spread of
Jainism in Karnataka ?

(a) Chandragupta Maurya

(b) Bindusara

(c) Ashoka

(d) Somparti

Who was the Viceroy of India when Simon
Commission was appointed in 1928 ?

(a) Lord Wellington

(b) Lord Irwin

(c) Lord Reading
(d) Lord Chelmsford

In which of the following place Ashoka's

minor rock edicts has been discovered in
Karnataka ?

(a) Halmidi, Hassan
(b) Maski, Raichur

(c) Mulbagil, Kolar

(d) Hoskote, Bengaluru
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A lady pointing to a man in a photograph
says, the sister of son of this man is my
mother-in-law. How is the husband of lady
related to man in this photograph ?

(a) Maternal grandson
(b) Nephew

(c) Son

(d) Maternal grandfather

Consider the following
1. Rama scored more marks than Rani.
2. Rani scored less marks than Ratna.
3. Ratna scored more than Rama.

4. Padma scored more marks than Rama
but less marks than Ratna.

Then, who scored the highest ?
(a) Rama

(b) Padma

(c) Rani

(d) Ratna

The setting up of which of the following is
not mentioned in Constitution ?

(@) Finance Commission

(b) Lok Sabha Secretariat

(c) National Human Rights Commission
(d) Election Commission

If the word 'DOWN’ is coded as FQYP then
how can ‘WITH’ be coded ?

(@) KYNV
(b) JYKV
(c) YKVJ

(d) JKVY
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(a) 37
(b) 30
(c) 22
(d) 32

For an astronaut in @ space shuttlie how
the sky will appear ?

(a) Dark/Black

(b) Red

(c) Blue

(d) White

Which railway station of Kamataka became
the first of its kind to have 100% digital
payment system ?

(a) Bengaluru Railway Station

(b) Raichur Railway Station

(c) Mysuru Railway Station

(d) Mangaluru Railway Station

Rachael Morrison became the first woman
to be nominated for Oscar 2018 for
cinematography. Which country does she
belong to ?

(a) Israel

(b) Iltaly

(c) America

(d) France

What has to be done to convert a gas into

liquid state ?

(a) Decrease the pressure and temperature

(b) Increase the pressure and temperature

(c) Increase the pressure and decrease
the temperature

(d) Increase the temperature and decrease
the pressure
B
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Which is the only state in India to have
enacted Uniform Civil Code ?

(a) Goa

(b) Jammu and Kashmir

(c) Nagaland

(d) Mizoram

Which Amendment gave the power to
amend any part of the Constitution to
Parliament ?

(a) 24" Amendment
(b) 39" Amendment
(c) 439 Amendment
(d) 42"d Amendment

Which among the following lies between
India and Sri Lanka ?

(a) Hormaz Strait
(b) Gibralter Strait
(c) Berings Strait
(d) Palk Strait

Which sports person has won the
maximum medals in Olympic games in
solo events ?

(a) Michael Phelps
(b) Usain Bolt

(c) Carl Lewis

(d) Ben Jhonson

Which of the following country celebrates
its Independence Day along with India on
August 15th 2

(a) Israel

(b) Argentina
(c) South Korea
(d) Turkey
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The Anti Leprosy Day is observed on which
date in India ?

(a) January 28

(b) January 30

(c) January 29

(d) January 31

The book “Exam Warriors™ has been
authored by whom ?

(a) Amit Shah

(b) Maneka Gandhi

(c) Prakash Javadekar

(d) Narendra Modi

2018 Football World Cup is going to be held at
(a) India

(b) Russia

(c) China

(d) America

Who was named as Mira Ben by Mahatma
Gandhiji ?

(a) Maria Montessori

(b) Kamaladevi

(c) Madeline Slade

(d) Annie Besant

Who built beautiful temples of Aihole and
Pattadakallu ?

(a) Chalukya
(b) Hoysala

(c) Shatavahana
(d) Rastrakuta

Which among the following was first
municipal corporation of India ?

(a) Bombay
(b) Allahabad
(c) Kolkata
(d) Madras



{00 0O 0

44

45.

46.

47.

B 3INS odns EELEAS) TITZ T TYTe
onsSomd aiorfrﬁ:demrbgd?

(a) TRTF T Lem,00

(b) ToTsdecd) TErish

(c) =ow* ™, cloct %

(d) =3snwd

r:qS:-‘wi’dQ Jneder @d@jd SaaaBv L iAot oV
o ?

(a) OINIF N

(b) =roes Prise

(c) 3°8% wxd

(d) SO o

HIROOD T3 Bess a%m afple]
(@) 1400 &.Q0e.
(b) 3200 #.20¢.
(c) 1950 8.oe.

(d) 2400 &.c0e.

53,0800 50N Wil BerE ST FoS 3R
O PRI DTOTT?

(a) =z TR

(b) denz*

(0) Sebgp et

(d) eI

BRODY B0 :

e — | e~

A. So3Z oo 1. doamﬁzjﬁ

B. Sxzce 2. Br* Bur'r 233

C. LS 7T 3. R d

o Sl niolor]

D. Zmror Zideer 4. RBreoR
LOIBITA Poror
goaz:ﬁdémrﬁ

A B C D -

@ 4 1 3 2

) 1 4 2 3

(c) 4 3 1 2

b 2 1 4 3

-11-

45.

46.

47.

48.

KPD-J - 2017

Which of the following is considered as
the fourth body of the democratic
Government ?

(a) Public opinion

(b) Political parties

(c) Freedom of speech
(d) Press

Who is the only economist to win a Nobel
Prize from India ?

(a) Amartya Sen

(b) Jagadish Bhagawati

(c) Koushik Basu

(d) Raghuram Rajan

The length of the Himalayan Mountain
range is

(a) 1400 km

(b) 3200 km

(c) 1950 km

(d) 2400 km

In which of the following books did Karl Marx
explain the reasons for a revolution ?

(a) Das Capital

~ (b) The Loss

(c) Communist Manifesto
(d) All of the above

Match the following :

List -1 List -1l
A. Mahatma 1. Dandi March
Gandhi
B. Neharu 2. Red Shirt
Movement
C. Abdul Gaffar 3. Bardoli
Khan Movement
D. Sardar Patel 4. Swaraj

declaration in
Lahore Session

A B C D
@ 4 1 3 2
(b) 1 4 2 3
(c) 4 3 1 2
d 2 1 4 3
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Which is the Holybook of Parsi religion ?

(a) Torah

(b) Avesta

(c) Tripitaka

(d) Tao-Te-Ching

Which of the following countries won the
2018 Blind Cricket World Cup ?

(a) Australia
(b) India

(c) Pakistan
(d) South Africa

Which of the following Satyagrahas was
led by Sardar Vallabh Bhai Patel during the
Indian Freedom Movement ?

(a) Kheda Satyagraha

(b) Ahamadabad Mill Workers Satyagraha
(c) Bardoli Satyagraha

(d) Champaran Satyagraha

Which country has granted citizenship to
Julian Assange, the founder of wikileaks ?

(a) USA
(b) India
(c) Ecuadar
(d) Sweden

Which Telecom Company of India has
decided to launch its own crypto currency ?

(a) Airtel

(b) Tata Docomo
(c) India Cellular
(d) Reliance Jio
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Police Flag Day Is celobrated overy yanr
on this day

(a) 26" January

(b) 2" April

(c) 219" October

(d) 4" June

The Himalayan Range is very rich in
species diversity. Which one among the
following is the most appropriate reason for
this phenomenon ?

(a) It has a high rainfall that supports
luxuriant vegetative growth

(b) It is a confluence of different
bio-geographical zones

(c) Exofic and invasive species have not
been introduced in this region

(d) It has less human interference

The average age of a tamily of 5 members
is 25 years. On adding the age of grandfather
the average increases by 8 years. What is
the age of grandfather ?

(a) 73 years

(b) 85 years

(c) 98 years

(d) 65 years

Where is the famous Netaji Subash
National Institute of Sports in India ?

(a) Kolkata

(b) Chandigarh
(c) Bhuvaneshwar
(d) Patiala

The sky is divided into how many star
constellations ?

(a) 88
(b) 77
(c) 99
(d) 66
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‘ ing are included in th
59. Which of the following R
original jurisdiction of the Supreme Court 9

1. Adispute between the Government of
India and one or more States.

2. A dispute regarding elections to either
| House of the Parliament or that of

Legislature of a State.
3. A dispute between the Government of
India and a Union Territory.

4. Adispute between two or more States.
Select the correct answer using the codes
given below.

(a) 1and?2
(b) 2and 3
(c) 1and 4
(d)'3and 4

60. = Mahatma Gandhi gave the call for
‘Do or Die' during

(a) Quit India Movement

(b) Civil Disobedience Movement
(c) Non-cooperation Movement
(d) Khilatat Movement

61. Wholwas the first Indian to hoist the
National flag ?

(@) Madam Cama

(b) Annie Besant

(c) Mahatma Gandhiji
(d) Sardar Pate|

62. A person can be appointed as Attorney
General of Ingia, Provided he/she is

qualified to be appointed a ‘
the following 2 $ which among

(a) Chief Justice of Supreme Court
(b) Chief Justice of High Gours
(c) Judge of High Court

(d) Judge of Supreme Court



63.

65.

66.

67.

FFuBE S 98oR CIna BN BT
“ 200D TOURLIN® "' DO FBOI0IRT ?

(@) sweDd

(b) RoIZ

(c) 338

(d) oIS

B3RO u%oﬁ B, B 23300 B8 ol ?
(@) duer

(b) &)o&u@:‘

(c) 3rwowod®

(d) sordeededoin

& FYNITT_ GIRTY T30 ) BT
R AT

(a) TTood30r TSR’

(b) a.es0°. TOT*

(c) o%F. oFF. Too*

(d) oxF.2x°. §edoR

B3 BPNS o3 mq@dna%mnmﬁmeﬁpdag
BYODR) BVOOWRT?

(a) 8eoe

(b) > wored

(c) BoFus

(d) B

o028 SO0 B8 NS oies W 3 Ferdodd,
BB ?

(a) =2

(b) 0%,

(c) oo

(©) =gows,

2O, ClaVy B 01) &IT LTOROT DOTD
lolevibrole

(a) . 3. dedosod);

(b) B. oo. e3eodd

(c) 8 o P,

(d) o, &T°. B[RS

65.

67.

KPD-J - 2017

Which among the following villages of
Karnataka is known as “Jalianwala Bagh”
of South ?

(@) Esuru

(b) Vidhuraswath
(c) Shivapura
(d) Ramnagar

Which country is the largest producer of
coffee in the world ?

(a) Brazil

(b) Vietnam

(c) Colombia

(d) Indonesia

Who among the following founded Indian
Statistical Institute ?

(a) Prasanta Chandra Mahalanobis
(b) C.R. Rao

(c) S.N. Roy

(d) S.S. Shrikhande

Which among following states primarily
depends upon thermal power ?

(a) Kerala

(b) West Bengal
(c) Karnataka
(d) Tamil Nadu

The Sabaramati river originates in which
among following ranges ?

(a) The Satpuras
(b) The Vindhyas
(c) The Aravallis
(d) The Western Ghats

Who is known as falther of modern
Kannada literature ?

(a) B.M. Srikantaiah
(b) D.R. Bendre
(c) K.V.Puttappa

(d) U.R. Ananthamurthy
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Which is the only river in the world to Cross
the equator twice ?

(a) River Nile

(b) River Volga

(c) River Congo

(d) River Amezon

Which is the only country in the world to
have both Lions and Tigers in its jungles ?
(a) Republic of Congo

(b) South Africa

(c) India

(d) Australia

Find the incorrect statement.

(a) National Judicial Academy is located
at Bhopal

(b) Justice M.M. Punchi Commission is
related to centre state relations

(c) India became party to UN in 1945

(d) Indian Parliament is based upon
principle of Dyarchy

Manish goes 7 km towards South East from
his house, then he g0es 14 km turning to
West. After this, he goes 7 km towards
North West and in the end he goes 9 km
towards East. How far is he from his house ?
(@ 14 km

(b) 37 km
() 2 km
(d) 5km

Find out the worg whi .

the rest of groun hich doesn't belong to
(@) BFD

(b) NRP

(c) HLG

(d) Qus

~



74.

75.

76.

p

78.

B0 138 RoNe3as &B0abE " Hord 0RO
Lelevernlol)

(a) oWz

(b) YBowcwox

(c) oops08

(d) =Sy,

adeudrt Ro&yt0 BRI T,0IROBTON JedioN
S8 BB Bk e CIRTH?

(a) Brekn B
(b) @oEOTEREZ,
(c) =ogo Q0B

(d) Doesot LT

28, HoT3T Brex SoooD Teos oy Beznd
TeIpO, thnlexta] naﬁai ), ?

(@) 113e

(b) 63¢

(c) 93¢

(d) 433

DETREIT 0BT TCDFRR?

(a) esiaaeidq, m@a&mcr{doswcmgd
(b) mﬂmm &:r)\xbgd

(c) TR NI

(d) UTTHAPVSI TSI
is loubvial

]
L

BRSO RERD RRohrs L, reod wikbromd
e et B0 DI ToS3FRBI 7

(a) Qoegdes*

(b) DT

(c) Sz

(d) ryeex’

-17-

74.

75.

76.

78.

KPD-J - 2017

Who is known as “Father of Karnataka
Music” ?

(a) Kanakadasa

(b) Purandardasa
(c) Raghavanka

(d) Sarvagna

Recently who become the first woman
lawyer to be appointed directly as a judge
of Supreme Court ?

(a) Roma Joseph
(b) Indu Malhotra
(c) Sudha Mishra
(d) Meenakshi Arora

What s India’s rank in the list of wealthiest
countries, according to a new report by new
world wealth ?

(@ 11"
(b) slh
(c) 9"
(d) 4t

What is the work of Epiglottis tissue ?

(a) To preventthe air entering into the food
pipe

(b) To expand the lungs

(c) To contract the lungs

(d) To prevent food bolus entering into
lungs

Using the sunlight and water the green
plants converts the carbon dioxide into
what ?

(a) Methane
(b) Vitamin
(c) Lipid

(d) Glucose
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Trachoma disease affects which part of the
body ?

(a) Intestine

(b) Liver

(c) Lungs

(d) Eye

If today is Thursday, which is the day that
comes after 363 days from today ?

(a) Tuesday
(b) Monday
(c) Thursday
(d) Sunday

“Intensified Mission Indradhanush” is
related to which of the following 7

(a) To develop of the skill in rural youths

(b) To control diseases by vaccinating
women

(c) Space Technology

(d) To control the diseases by vaccinating
children

The Jet aircraft fly very easily and smoothly
in the lower stratosphere. What could be
the appropriate explanation ?

1. There is no clouds or water vapour in
the lower stratosphere.

2. There are no vertical winds in the
lower stratosphere.

Which of the statements given above
is/are correct in this context ?
(@) 1 only

(b) 2 only
(c) Both1and 2
(d) Neither 1 nor 2

]
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Which among the following two countries
connected through under water tunnel ?

(a) England and France
(b) Malaysia and Singapur
(c) England and Spain

(d) England and Belgium

If INDIA is coded as 95491, then POLICE
can be coded as

(a) 763475
(b) 671946
(c) 763935
(d) 652935

Proportion of contribution from central and state
govemment in “Indira Awas” Yojana is

(a) 50:50

(b) 75:25

(c) 80:40

(d) 40:60

The impact of Kalinga war on Ashoka is
depicted in

(a) Pillar edicts

(b) Rock edicts

(c) Archaeological excavations
(d) None of the above

In which order are elements arranged in

periodic table ?

(a) Ascending order of the elements
atomic number

(b) Descending order of the elements
atomic number

(c) Ascending order of the elements mass
number

(d) Descending order of the elements

mass number
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How many numbers are there from 5 to
100 which are divisible by 3 and .has 3in
either in ones or tens or both positions ?

(@) 6
(b) 10
(c) 8
(d) less than 6

Vijay starts a business with an inijtial
investments of Rs. 60,000. After ffaw months
Sujay joins the same business with an initia
investment of Rs. 40,000. At the end of the
year the profit eamed was shared among
them in the ratio of 2 : 1. If so then after how
many months did Sujay join the business ?
(@ 2
(b) 4
(c) 3
(d) s

Pullitzer Prize is an award generally given
to achievers from which field ?

(a) Physics

(b) Journalism

(c) Mathematics

(d) Music

Consider the following statements
regarding 1857 revolt -
1. Immediate reason of the revolt was the
induction of enfield rifles in the army.
2. Maharaja Sciendia of Gwaliar
Supported the revolt and the mutineers
3. Tatya Tope took on the British
Commander-in-chief and checked the
advancer of the British in Kanpur.
4. SirHenry Hardinge was the Governor
neral at that time.

Which of the above statements is/are
true ?

(@) 1and 4
(b) 1,3 and 4
(c) 1and3

(d) 1,2and 4
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National Girl Child Day is celebrated on
which date in India ?

(a) January 24

(b) January 25

(c) January 26

(d) January 27

Which of the following statements is/are
true regarding ‘Right to Property’ ?

1. It was a Fundamental Right undei
original Constitution.

2. |t was removed by 42 Amendmernit

3. Itis now a legal right under Article 31/,
Select the correct answer using the code
given below :
(a) 1and 3
(b) 2 only
(c) 1 only
(d) All are correct

Which of the following is a common method
of election for the members of Rajya Sabha
and Lok Sabha ?

(a) Every citizen above the age of 18 is
an eligible voter

(b) Voter can give preference order for
different candidates

(c) Every vote has equal value

(d) The winner must get more than half
the votes

Parliamentary Government means
(a) The Government run by the Parliament
(b) Supreme power of Parliament

(c) It is a Government where executive
body is responsible to the Legislature
(d) None of the above
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Which of the following organisms transmits
dengue virus ?

(a) Sarcoptes Scabiei
(b) Aedes aegypti

(c) Wuchereria bancrofti
(d) Cimax lectularius

Where is ‘Mega Food Park’ located in
Karnataka ?

(@) Tumkur

(b) Belagavi

(c) Chikkaballapur

(d) Chitradurg

In which part, the river Brahmaputra is
called as “Jamuna” ?

(a) Bangladesh
(b) South India
(c) North India
(d) None of the above

Who has been appointed as Chief Electoral
Officer of Karnataka ?

(@) Dr. Samith Sharma
(b) Smita Sabarwal
(c) Sanjeev Kumar
(d) Aruna Sunder Rajan

Consider the following :
1. Oxides of Hydrogen
2. Oxides of Nitrogen
3. Oxides of Sulphur
Which of the above causes/cause acid rain ?
(a) tand 2
(b) 2and 3
(c) 1,2and 3
(d) 3.only
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